6 IRWD 030 (n, = 1400 06/Mu)

Aevrare’ Bl BoixoaHoi conaney FA

280 5 0,09 2,7 6,7 18 0,84 PA
280 5 0,12 3,6 5,1 18 0,84
.280 - .5.....018 53 5. .84 .18 ...084
186,7 7,5 0,09 3,9 4,6 18 0,80
186,7 7,5 0,12 5,2 3,4 18 0,80
1867 . 75018 77 i..23.5..18. .:..080
140 10 0,09 5 3,6 18 0,77
140 10 0,12 6,6 2,7 18 0,77
.40 10 ..o18 o 10 o8 18 077
93,3 15 0,09 7 2,5 18 0,72
93,3 15 0,12 9,3 1,9 18 0,72
983 .1s.p.oa8 4o Ns 18072 =)
70 20 0,09 8,8 2 18 0,67 5 %
70 20 0,12 12 1,5 18 0,67 3 &)
70 2 o8 18 1 . 18 . 067 %
56 25 0,09 10 1,9 19 0,60
56 25 0,12 12 1,5 19 0,60
.96 .2 ;.01 ;.2 .09 .. .19 ..0860
46,7 30 0,09 12 1,7 20 0,62
46,7 30 0,12 16 1,3 20 0,62
46,7 30 0,18 24 0,8 20 0,62
35 40 0,09 14 1,2 17 0,54
L35 A0 02 1908 1T 054
28 50 0,09 17 1 18 0,51 80
28 50 0,12 22 0,8 18 0,51 70
23,3 60 0,09 18 0,9 16 0,45 S
175 ¢ 80 ¢ 009 ¢ 16 ¢ 09 ¢ 16 i 045 ] * BHELLUHWI AnameTp MOTOPHOIO doriaHua ucnomnHeHun B14/B5
| X L1
i HT __ H1
L]
! ==
o 1
a W . ARl
Z = - - / o
®) AL : - 19
gl 1>
PE — _FJ
C “ * 3Ha4eHns X n Y — cMOTpuTe Ha cTpaHuLe
p G «QreKTpoABUraTen 06LLENPOMBILLTIEHHbIE
TpéxcpasHble INNORED RM»

. A B = C = C1  DH7) . Eh8) : F ¢ G = H = H : | b1 mMm N 2O
IRWD 8 = 97 54 . 4 14 55 3% 5 65 . 20 5 63 . 40 57 . 30
030 p a R s T v PE b t o Ka

75 . 44 6,5 ) B 55 .27 0 Mexii(n=4) : 5 16,3 L0 12

BbixogHou Ban DS, SS PeakTuBHas WITaHra

‘

@\
T L1 T DS KJ
T ~e -
= \ © ()

S R
/1

IRWD dh6) T T L1 Z zZ1 m bl o mWD L  H K

030 14 30 325 63 102 128 M6 5 16 030 g 14 . 24 8 15 4



